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A, B, C and D are students. They
are studying in four different
cities, viz, P, Q, R, S (not
necessarily in that order). They are
studying in Science college, Arts

T —

college, commerce college and

e ST

engineering college (not
nec-;sﬁrily in that order) which
are situated in 4 different states,
viz, Gujarat, Rajasthan, Assam and
Kerala (not necessarily in that
order), further, it is given that;

A, B, C 3R D ®F & 9 =R
STST—3TeT ¥&”l H Ug @ &, 3rIfq, P,
Q, R, S, ((TH 718l f& g0 &9 #) | 4
IR IOl dfdw (TS T8 &
s ) ¥ g @ & O 4



T3S TSdl, I[OINId, NISTe(M,

A 3R e (G T8l fh s+
(omnan(e

# 8 # Rera €| fear mar & %,

(1) D is studying in Assam
D 3% H Ug <&l §

(3) Arts college is located in city
S

which is in Rajasthan.

aﬁ#ﬁiﬁmwsﬁmﬁ%ﬁ

(4) B is studying in city Q
B YEY Q H Ug W@ 2

(S) Science college is located in
kerala

\ 4l City Q (b) City § =Y Pleiot @Yl H Rerd &

Science cnllege is located in?

(c) City R (d) City P g wtorr wet Rert 27
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SR fev 71U fHae HUF Imavas &2

(a) only 2
(c) only 4

(b) only 3
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Consider the following
statements.

A is older than B
C and D are of same age

E is the youngest
F is younger than D

F is older than A

How many statements given above are
required to determine the oldest

person?
fR=fafag ol «w® R a9
(1) A,B A g1 8

@ CIRDGGHTHD &
(3) E 999 ®BIeT &

4) F, D 9§ BleT 8

(5) F, A ST &



(a) Statement - 1, 2, 3 are
sufficient to answer the
question

p{h] Statement - 1, 4 are sufficient
to answer

u;,ml four statement require to

answer
(d) None of the above

There are 5 members A, B,C, D, E
in a family.

(1) A and B are married couple
(2) D is the father of C

(3) E is D’s son

(4) A and C are sisters.

What is the relation of E to B ?
U% URAR # 59 A, B,C, D, E §|
1) A 3R B fagifad oS &

2) D, C &7 fiar 8

3)E,DST 3

4) A IR c 98 £}

E &7 B Y T G 27



Odd one out group.

TS W8 ¥ ST S N |
(a) 17, 37, 47, 97
(b) 31, 41, 53, 67
(c) 71, 73, 79, 83
(d) 83, 89, 91, 97




If today is Sunday, then which day
is it exactly on (1010th ) day?

gfe oot ¥daR 8, @ Aid (10" faq
B T 87

(a) Thursday db)/

Wednesday
(c) Friday (d) Sunday
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40 children are standing in a circle
and one of them (say child-1) has a
ring. The ring is passed clockwise.
Child - 1 passes on to child-2,
child-2 passes on to child-4, child
- 4 passes on to child - 7 and soon.
After how many such changes
(including child-1) will the ring be
in the hands of child-1 again?

409 T N H gy § AR o W
UH (AF ST s=a—1) & 99 Ud
ST B | S DI @O AT ST
2| 3R Teg & deu—1 §9—2 H gall
ST 8, 92 §9—4 ¥ gl Ol ©,
g4 §99—-7 H Tl War 21 W
fam dqamEl (F=—1 9ftd) @& 9°
IS R ¥ g=—1 D T F DR

(a) 14 @[h] 16
\s] 15 (d) 17




For 5 children with ages a<b <c¢ <
d < e; any two successive age differ

by 2 years
AN Nt @ Nt6 N+K Statement 1: The age of the eldest
O, \ is 3 times the youngest.

Statement 2: The average age of

%ﬁx'l.? @'7(4“1': ? children is 8 years.
A= =Y What is the age of youngest child?
Hy /a¢b<c{d{e3ﬂgfﬂésaﬁﬁ$
forg, sl <1 #ff® oy # 2 9§ @

(a) Both statement require to SR R

answer $YF 1: I99 g€ P SY 999 Bic ¥

(b) Neither statement 1 nor 2
(c) statement 1 is sufficient to e J gl

answeri ) - B 2: gzl B T MY 8 ¥ B |
t
l)ﬂ;—qﬁes on can be answered by i i wit it e 4B

using either statement alone



Consider the following:

(1) A + B = A is neither smaller nor
equal to B

(2) A-B = A is not greater than B
(3) A x B = A is not smaller than B

(4) A + B = A is neither greater nor
equal to B

(5) A £ B = A is neither smaller nor
greater than B

Statement:
PxQ,P-T,T+R,RtS
Conclusion :

1)Q+T

2)S+Q



fr=feriaa w faar &+

1)A+B=A BH T ®lcl g 3R 8
SUP T B

2) A-B= A, B ¥ 78 &
3) AxB=A, BY Bl 78l &

) A+B=A BATN TS EIRATR
ISP &R B

5)A+B=A BIYTA BRI ARAE
e EN
HU:

(a) Only conclusion 1 follows PxQ,P-T, T+R,R%S

nly conclusion 2 follows TN :
(c) Both follows 1)Q+T
(d) Neither follows 2)S8+0Q
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Consider the following statements
in respect of five candidates P, Q,
R, S and T. Two statements are
true and one statement is false.

True statement: One of P and Q
was selected for the job

False statement: At least one of R
and S was selected for the job.

True statement: At most two of R,
S and T were selected for the job

Which of the following conclusion
can be drawn?

)& At least four were selected for
the job

)d(Z) S was selected for the job



Ui SRgarl P, Q, R, S 3R T & Gy
¥ f=fefad soFf ) R )| Q1
FYF U & 3R TP HUYF Tod B |

T $9: P3IR Q H | U & Alpd
& forg g=m Tar en

TAd FUT. RIARSHTA T A 9 T
Bl Hexl B forg g T o

I HYF: R, SR T H ¥ ¥aHaq Q1
@ Areq 3 forg g=m TaT o

f=foaRea § 9 9 91 Ay [eren
ST AhdT 27

1) NHA B 7 F9 A FH IR FT T9IA
far T

2) S P ArBA B foQ o TAT o

(a) 1 only
(b) Both 1 and 2
(c) 2 only

\__{d¢Neither 1 nor 2
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Images of %@%f the
english alphabet ! gitg_kf] are
observed in a mirror. What is the
number of images of these which

do not lo ike their original
shapes?

ol gofarem (§S R & oAl @
yfafem gdor § < o § | 399 9 O
Bfaal & W@ fea 8 o 3 qa
ATHR B TE el fa@a 8¢

(a) 13 (b) 15
(d) 16
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A women runs 12 km towards her
north, then 6 km towards her
south and then 8 km towards her
east. In which direction is she

from her starting point?

% HfRelr U IR B AR 12 o,
fibx =féror 3t 3R 6 T 3R B qd
@ AR 8 fHH et B T® oW
aRfre fig & fea R ¥ 27

(a) An angle less than 45° South of
East

d & SR H 45° F FH BT
(b) An angle less than 45° North of
East

Ud & SR A 45° ¥ BH I

(c) An angle more than 45° South
of East

4 45° ¥ 3RS Pior
(d)JAAn angle more than 45° North
f East

Ud & SR A 45° 9§ AfRF BT BT



In a class 60% of students are from
India, and 50% of students are

A% girls, if 30% of the Indian students
are girls, then what% of foreign
& students are boys?
A Yo TS BT ¥ 60% B 4Ra ¥ & 3R
50% BTH defhdl &, A 30% ARAN
\/\ BT dsfddr 8, a fban % faqd s
- 2. ¥ o> &7
B g (a) 45% (b) 30%
q (c) 40% ) 20%
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48 : 60 is similar to

(a) 64 : 72

\/MSG: 100

e

TIY

(b) 96 : 114
(d) 78 : 94



3,15, 14,6,9,4,5, 14,7, 5
(@) 1 (b) 2

(c) 4 ym/@
3ISMeIYTIy <
C O NF| De Nl £

>y



In a row of children facing North,

R is 12t from right end and is 5tb
to the right of S who is 10t from

the left end. Total how many
children are there in the row?

9TR B AR 9@ by gY a=0 A 0@
Ufth §, RSN BR ¥ 129 WM R
IR SP TMW A 59 W TR &, I 919
BR ¥ 10 d WX 3| Ut # g

Ry a=) 7 @
(a) 29 \_5) 26

(c) 28 (d) 27



How many triangles are there in
the figure?

amafa ¥ fas Bryer 87




Statement: should persons
convicted of criminal offences in
the past be allowed to contest
elections in India?

Arguments:

) NO, such persons cannot serve
the couse of the people and
country
(2) Yes, it it democracy, let people

)0 decide whom to vote.
‘.IHUIULEMJ o DU FT I H RIS JOREN B

A Aftpal B IRT | g TS B

I'(2_ srufy & s =nfew?
dh:
only 1 1) &1, WX Ifp AT R A Y Jar
(b) Both 1 and 2 & v ¥y
ie) only 2 2) 8, 98 dldad B, AN D 98 g

(d) None a7 ¥ o e e T



Statement:

(1) Tea is green coffee is brown and

q Milk is white.
T_’ (2) More than half of the people in a
C/_‘ Argwh city like tea.
f‘w"’ ; (3) Those people like white, do not like

green and some people who like brown

So ) 7T€c‘ th do not like white.

Conclusion:

(/m Green is more popular in the city

) There is atleast one person who
akes coffee but do not take tea.
DY

1) T & ®, DIPI T & IR g 99 5 |

2) e oIER @ 3 9 I AT 919 TSNS
B B |




3) R @R @I 9%g T TS 8, S &<
1 T6E TE ¥ AR B A R A
U4g 8, S 9%hg W U§g T8l 8|
frspv:

1) &1 < R ¥ AP ABT B

2) $H | HH Ud gfth VT & O DIl dl
T 8 wfed = w8t drar |

A4 only 1 (b) Both

(c) only 2 (d) None




Pointing towards a girl, chetan
@ said, “She is the daughter of the
only child of my grand mother,
how is chetan related to that girl?

w TP TSl Bl AR TR Fd §Y, oo
= Jd $al, 98 A Qe DI THHEA GdH

' Dméﬁ%,ﬁﬂﬂmwawﬁw
(Chato) ey

(a) Father (b] Son

ChefordT o



Statement:
(1) No shirt are T-shirt.
(2) All T-shirt are cotton
Conclusion :

(3) some shirt are cotton
(4) No T-shirt are shirt.

he:

1) B T A-vE T 2
2) W &3 el 8
sy -

X 1) 7o o < &

-7 B¢ v v T}

(a) Only 1  |_4byOnly 2

(c) Both (d) None



ﬂ

DVt

Rohan wants to go university
started from his home, moving
west direction and then come to a
crossing. The road is in left side
goes to a theatre and straight
ahead is hospital

In which direction is university
situated?

Jeq [l ST @Ear 8 98
0 R 9 PH BlHx ufREH fawm o
3R dedr 8 3R fR T diRkIe IR 3ATaT
2| 9 3R 9@ s fuex a% o
g 3R 3% M 3rudre &
fasafdenea fea feem § Rea 87

um{ﬂh (b) West

(c) South (d) East



In certain language, “BEST” is
written as 02915020. What is the
code for “MOUSE” in that code

language?

e foefeg wmr #  «“BEST” &I
02915020 forar STar 2 | S9 DI 9197
# “MOUSE” & foiv &1 9Ie 27

(a) 5051125113

(b) 5099541254 MOUS%
o sosn12813 55

(C 9523654
¢ L 3 \

©



Letters of a word have been

jumbled up and numbered as given

select the option that gives the

correct order of the letters as

’0 indicated by the number to form
\b the meaningful word

)
\/ ﬂP\\ ﬂ{ — ~NTLVAALRO

1,2,3,4,5,6,7,8,9

TP I & AR DI HeE D 9
SirST T & SR Ay 77 SrgarR Hwifeba
e 17 B, 99 fAwcy &1 T B o
i e 99 @ forg Her g |9y

(a) 5,4,3,9,1,7,6,2,8 .
(b) 4,8,5,6,2,7,93,1 JERT BT & HH T 2|

~c14.5,8,7,6,2,3,9,1 N,T,LLV,A,A,LLR,0
(d) 6,4,2,8,7,3,1,4,9 12 34,5,6,7,8,9



(Doctor, Smoker, Indian,
Smoker)

SHUTT T HIA dTel)
(@) \ O~ \ _.-'| t /
¥ i e
( N |
\ ) \
b N
B N
' } ( |
K‘x__ / N a,-«"fl

Non-



IfA2B-=Ais father of B
A 4 B = A is brother of B
A 5 B =Ais Mother of B
A 6 B = A is Daughter of B

Then in “J5Q6L204S” how is Q
related to S?

qfd A2B=A, B & far 8
A4B=A,B & HE &
A5B=A, B &I Al 8
A6B=A, B3I 8

ar fR “J5Q6L2048” H Q, S ¥
fre gpR Gt 87

(a) Brother (b) Daughter
o Sister (d) CND



Which of the following symbols
should replace sign (%) and (%)
respectively in the given
expression in order to make the
expression “U>D” and “J2G”
Definitely true?

A>UZ2N%C>G*D<B=K<J>
|

IfafRs “U>D” 3R “J>G” &1 fAflEd
WY 9 99 99 @ forg fAmfarRad #
¥ fog wde &1 Ry 10 afyaafes

PHT: (%) 3R (%)
BT I1fRe?
A>U>N%C>G*D<B=K<J>
I \——’/
X =2 b) =,> @
M) <,=  Adr=,=



